
 

 

 

 

             Addition and Subtraction of Fractions: Part 2   

              [Like Fractions, with simplification of answers]  
 
1. Complete:   a)  1 quarter + 1 quarter = ____ quarters 

       = ____________  
                  
 
 

                       b)  4 eighths + 2 eighths = ____ eighths 
 
       = ____________  
 
 
 

                       c)  8 ninths – 5 ninths = ____ ninths 
 
           = ____________  
 
    
 
                       d)  1 whole – 4 sixths = ____ sixths 
 
          = ____________  
 
     
 

2. Complete:      

    a) 
1 1
6 6
                      b) 

3 1
4 4
                     c) 

3 3
10 10

             

 
 

    d) 
3 1
8 8
                      e) 

2
6

1                       f) 
4

12
1                                                                   

 
 

 

 
 

 

    

 

    

    

 

   

   

 

   

   

   

 


